HAm LETKEMREFE(ETKE)

BAmKER TR

AT E R

RO HIREIRER

KXTE ®fM7%F1A
1 BE

HIO T, KB ICRSERHE ATREZR B TF/KIE S AT AOREEIT AT | RN B BT iEak (2 DWW T, 414,
42 20 M I E(LEMEL, 2O BB TEENLS I 11 O 5 FERM T, g T2 TRERE
B RF T 2Tk & e B e ISR b & i 9228 & BIEE 35,

F7o KR DS WL EL R T 0O B B AR\ B D EAGEF BT oW T, At A 20 R Tl E LA
RAEL, ZO5 BT 17 BTN 26 4RE£ 0 10 4R[HC, EEZRHis % (8 fisk) |CB 5 FAKEE HED
MR E T 2% BiEE 35,

2 ETEHARE

ST FAR~SM12E38 GHEWIRIL, SFEREELTD)

3 TARKELERBNICHITHHHEMEDEEMBDRTE (ETFTKEHXE)
TKELEXIBRNIZEH T HBHMEOEEM (L TKL®E)

MEE% % HEEX B

X5

R ENRE 0

LT*L%%%@
EMEEREAD

mn

(FH5FEERBR)

LT*L RED
EMEERERD

E@mu

(5 11 EEXRE)




TRELBRIENIE T ORHMFTFEDEEMRDRTE

TKEBERERIGNE T ORHEMFDEEMEK

IZ/\
7 MR % 3% 2 R
HO AT, DTS, A — S | SRR, ST
N Ve N ENT IR R R LI E R o & — R LR P AR SR LS . AL
X a
5 VL AR (] A T M7 R (s R A R | [ . [ A
8 T R R R ) 1| [ SR T e L AR
KEBED WS AT Bl A E ST R R R L B o 2 —
T SRR 2 D
e
(SIS EERE &)
T M BERER D
B E Y

(11 FEXREL)




< BIWm ETFKEMRLCLER/FEDNSE KEEXFICEHIDEE >

5 KEVATLDAFBHROMEIL (E/KESZERV/KERKEREE)

(1) BUK#E 2%
AT 8K (B FT) fEEkEEA (mS/8) it =1L 2 (%)
X R EHUKEER 37 17,028
=X REEFA (FHSEERFFR) 17 2,407 14.1
MEILBZE (S 11 FERZ) 21 6,879 40.4
(2) BKiEER (BEKE)
ERER (m) =L e
B m”?f;% WEEAE | THEEE |HEELSE
TR Lot (%) (%)
(B
MELEAE (FHMSEEREA) 8,313 3,914 14,175 26, 402 31.5 14.8
TR B1Z (S50 11 FEFRE) 9,199 3,914 13, 886 26, 999 34.1 14.5
(8) % KHEER
AT 8% (B FT) fEEkEEA (mS/8) it =1L 2 (%)
R REFIKIEER 30 16,887
it Bt SRR F A (RS FEERFR) 17 4,166 24.7
MEILBE (S 11 FEXRZ) 18 16,166 95.7
(4)EKIEEE GEKE)
ERER (m) i AL B4R
B m;;;% WEEAE | | THEEE |HEELSE
TR Lot (%) (%)
(B
B LHKE (FHSEEREA) 9,288 1,350 16, 080 26,718 34.8 5.1
B B2 (S5 11 FEXRE) 10, 376 1,350 15, 863 27,589 37.6 4.9
(5) Be/k e 2% (Bo/K ith (BR/KEBE L) RUEK)
BTk (&R BHBEE (M) i AL 2 (%)
X R /LKt 40 19,758
it Bt SRR F A (RS FEERFR) 21 17,523 88.7
MEILBFR (S 11 FEXRZ) 21 17,523 88.7




(6) R TRT (BUK., K, EKKRUVE KR TR

AT 8K (&R fEEkEEH (mS/8) it =1L 2 (%)
HERER TR 63 74,401
M EX REEFAH (FSEERFFR) 35 7,957 10.7
MEILBZF (S 11 FERZ) 41 24,457 32.9
6 HEMEFOEEMRBICERTIKEEROMEL (LEKEEE)
Bkt~ BB EDEERRFETCOKEER (BEKAE+EKIZE)
() TFARELEBRBERNICETIHHREDEEMER
ERRIER (km) =L e 1
B m"?fj:% MEESE| MEEE |HEESE
TR LLgt (%) (%)
(B
HHMEOEELRFRICERT 0 0 0 0 B B
BEKE (FFSEERFFR)
BLKAE — — — — — —
BKXZE — — — — — —
=L B4R (S 11 FEREZ) — — — — — —
(2) FARKENEBERIFEN-HTERHMEDEEMEE
ERIER (km) M =L e
HEEEE . .
= & HEEE _ HEEE |MEEEE
S L Bst it (%) (%)
(EERQ
HHEMEOEELMERICERT
3.6 2.0 46 10.2 35.3 19.6
BEKE (SHSEERBR)
BEAKAE 3.6 2.0 44 10.0 36.0 20.0
BLkE 0 0 0 0.2 0.0 0.0
MEIEBZE (S 11 FEXZ) 3.6 2.0 46 10.2 35.3 19.6
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(1) Bk KeER
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(6) R TRT (BUK., K, EKKRUVE KR TR
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9 TKEVATLORAFRERDMEL
(1) T/KALIESS (157K, IEBR. HEHEEICIRDTRERICR D)

15Kk SR HEE Bk AR B
2% 52 TR
R R R
EATD | mmix | EHYS | mEtx | EAID | mmex | LESO | mEex
IO WIS D WD A
H (%) H (%) R (%) (&) (%)
(&) (&) (&)
X R 2 E AT 0 2 0 2
T EREEREAD 0 2 100% 0 2 100%
B
(SFISHERERE )
it = REMER D B2 0 2 100% 0 2 100%
B
(&% 1 FEEFRE)
(2) FKAEZ~ T KUEZERORRERESETOTKEER
BEBREE (km) L2 (%)
HMEREER 1.3
SRR EADER (FHSEERFR) 0 0
MEHEEEROBEZER (0 11 £EXRZ) 0 0
(3) T/KUNEIZ~ T /KUESEANDOREERAETOR TS
R TE0ERTE (&R fHEIL 3 (%)
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10 BMTFOERMRICHERT ST KEERFOMREL
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